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extern int Adjust_Stop
extern int Stop_Loss
extern int Take_Profit

int Ticket_L
int Ticket_S

double Pips = 0;
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double AdjustPoint(string Currency)

{

int Symbol_Digits = MarketInfo(Currency, MODE_DIGITS);

if(Symbol_Digits == 2 || Symbol_Digits == 3)
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double Calculated_Point = 0.01;
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else if(Symbol_Digits == 4 || Symbol_Digits == 5)
{
Calculated_Point = 0.0001;
b
return(Calculated_Point);
} —
int init() T
{
Pips = AdjustPoint(Symbol());
<+— (3)
return(0);
} —
int start()
{
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if(O>2J > U —DFEM)
{ —
Ticket_L = OrderSend(Symbol(),OP_BUY,--,--,-=-,0,0,-,==,=,=**);
if(Ticket_L > 0) <+— (4)
{
if(OrderSelect(Ticket_L,SELECT_BY_TICKET) == true)
[ ]
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double Stop_Level = MarketInfo(Symbol(),MODE_STOPLEVEL) * Point; ¢—— )7
RefreshRates();
double Upper_Stop_Level = Ask + Stop_Level; ’I/ < (5)
double Lower_Stop_Level = Bid - Stop_Level;
double Minimum_Stop = Adjust_Stop * Pips; ¢—— lj ]
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if(Stop_Loss > 0)
¢ 7
double Buy_Stop_Loss = OrderOpenPrice() - (Stop_Loss * Pips);
b
if(Take_Profit > 0) <+— (6)
¢ «
double Buy_Take_Profit = OrderOpenPrice() + (Take_Profit * Pips);
¥ _
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if(Buy_Stop_Loss > 0 && Buy_Stop_Loss > Lower_Stop_Level)
{
Buy_Stop_Loss = Lower_Stop_Level - Minimum_Stop; q 757
Print("Stop-Loss has been automatically adjusted.");
b — __
if(Buy_Take_Profit > 0 && Buy_Take_Profit < Upper_Stop_Level) “— (7)
{
Buy_Take_Profit = Upper_Stop_Level + Minimum_Stop;
y_ _ pper_stop_ _>top 1 ~
Print("Take-Profit has been automatically adjusted.");
b _| _|
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if(Buy_Stop_Loss > 0 || Buy_Take_Profit > 0)
{ <+— (8)
bool Modified = OrderModify(OrderTicket(),OrderOpenPrice(),Buy_Stop_Loss,Buy_Take_Profit,0,clrNONE);
b
b
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if(=3—hI> hU—D%MH)

{

Ticket_S = OrderSend(Symbol(),0P_SELL,-+,-++,-,0,0,+,+,,);

if(Ticket_S > 0)

{

if(OrderSelect(Ticket_S,SELECT_BY_TICKET) == true)

{
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Stop_Level = MarketInfo(Symbol(),MODE_STOPLEVEL) * Point;

RefreshRates();

Upper_Stop_Level = Ask + Stop_Level;
Lower_Stop_Level = Bid - Stop_Level;

Min

imum_Stop = Adjust_Stop * Pips;
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if(Stop_Loss > 0)

{

double Sell_Stop_Loss = OrderOpenPrice() + (Stop_Loss * Pips);
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if(Take_Profit > 0)

{

double Sell_Take_Profit = OrderOpenPrice() - (Take_Profit * Pips);

by
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if(Sell_Stop_Loss > 0 && Sell_Stop_Loss < Upper_Stop_Level)

{

Sell_Stop_Loss = Upper_Stop_Level + Minimum_Stop;

Print("Stop-Loss has been automatically adjusted.");

by

if(Sell_Take_Profit > 0 && Sell_Take_Profit > Lower_Stop_Level)

{

Sell_Take_Profit = Lower_Stop_Level - Minimum_Stop;

Print("Take-Profit has been automatically adjusted.");

by
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if(Sell_Stop_Loss > 0 || Sell_Take_Profit > 0)

{

Modified = OrderModify(OrderTicket(),OrderOpenPrice(),Sell_Stop_Loss,Sell_Take_Profit,0,cIrNONE);




